

A NOTE ON k -PELL, k -PELL-LUCAS AND MODIFIED k -PELL NUMBERS WITH ARITHMETIC INDEXES

P. CATARINO, H. CAMPOS AND P. VASCO

ABSTRACT. In this paper, we define the k -Pell, k -Pell-Lucas and Modified k -Pell numbers with arithmetic indexes, study some properties of these sequences of numbers and give their generating functions.

1. INTRODUCTION

In this paper, we consider new sequences of numbers with arithmetic indexes, and we give some properties and the generating functions for these types of sequences. One of the sequences of positive integers (also defined recursively) that has been studied over several years is the well-known Fibonacci (and Lucas) sequence. Many works of researchers are dedicated to the Fibonacci sequence, such as the works of Hoggatt [15], Vorobiov [25], and Koshy [21], among others. The studies of several authors are devoted to other sequences satisfying a second-order recurrence relation such as the sequences $\{P_n\}_n (n \geq 0)$, $\{Q_n\}_n (n \geq 0)$ and $\{q_n\}_n (n \geq 0)$ of Pell, Pell-Lucas, and Modified Pell numbers, respectively. Recall that the second-order recurrence relation and the initial conditions for the Pell numbers P_n , Pell-Lucas numbers Q_n , and the Modified Pell numbers q_n , are given by

$$(1) \quad P_{n+1} = 2P_n + P_{n-1}, \quad P_0 = 0, P_1 = 1, \quad (n \geq 1),$$

$$(2) \quad Q_{n+1} = 2Q_n + Q_{n-1}, \quad Q_0 = Q_1 = 2, \quad (n \geq 1),$$

and

$$(3) \quad q_{n+1} = 2q_n + q_{n-1}, \quad q_0 = q_1 = 1, \quad (n \geq 1),$$

respectively. More recently, generalizations for any positive real number k of certain sequences of positive integers have been studied by many researchers. For example, the study of the k -Pell sequence, the k -Pell-Lucas sequence, and the Modified k -Pell sequence has appeared in [4], [5], [7], [8], [9] and [10], among

Received September 28, 2018 .

2010 *Mathematics Subject Classification.* Primary 11B37, 11B39.

Key words and phrases. Pell numbers; k -Pell numbers; k -Pell-Lucas numbers; Modified k -Pell numbers.

This research was financed by Portuguese Funds through FCT – Fundação para a Ciência e a Tecnologia, within the Project UID/MAT/00013/2013 and the project UID/CED/00194/2013.

others. Studies of other generalizations can be found in [1], [2], [3], [6], [11], [12], [17], [18], [19], and [20].

In this paper, we work with sequences related with the k -Pell, the k -Pell-Lucas and the Modified k -Pell sequence, and such generalizations are defined by a recurrence relation of second order given for any positive real number k , by,

$$(4) \quad P_{k,n} = 2P_{k,n-1} + kP_{k,n-2}, \quad n \geq 2,$$

with initial terms $P_{k,0} = 0$ and $P_{k,1} = 1$, for the k -Pell sequence,

$$(5) \quad Q_{k,n} = 2Q_{k,n-1} + kQ_{k,n-2}, \quad n \geq 2,$$

with initial terms $Q_{k,0} = Q_{k,1} = 2$, for the k -Pell-Lucas sequence, and

$$(6) \quad q_{k,n} = 2q_{k,n-1} + kq_{k,n-2}, \quad n \geq 2,$$

with initial terms $q_{k,0} = q_{k,1} = 1$ for the Modified k -Pell sequence. Note that in the particular case where $k = 1$, (4)-(5)-(6) reduces to (1)-(2)-(3), respectively.

The Binet style formula for these sequences are given by

$$(7) \quad P_{k,n} = \frac{(s_1)^n - (s_2)^n}{s_1 - s_2}, \quad Q_{k,n} = (s_1)^n + (s_2)^n, \quad q_{k,n} = \frac{(s_1)^n + (s_2)^n}{2},$$

respectively, where $s_1 = 1 + \sqrt{1+k}$ and $s_2 = 1 - \sqrt{1+k}$ are the roots of the characteristic equation $s^2 - 2s - k = 0$ associated with the above recurrence relations (4), (5) and (6). Note that $s_1 + s_2 = 2$, $s_1 s_2 = -k$ and $s_1 - s_2 = 2\sqrt{1+k}$.

The works of Falcon [13], and Falcon and Plaza [14] are dedicated to the study of the k -Lucas and the k -Fibonacci numbers of arithmetic indexes, respectively. Similar studies with other sequences can be found in the work of Jhala, Rathore and Sisodiya [16], where the authors stated some properties of the k -Jacobsthal numbers with arithmetic indexes. Also, Uygun [23] studied the k -Jacobsthal Lucas numbers of arithmetic indexes and Singh, Bhadouria and Sikhwal [22] determined sum properties for the k -Lucas numbers with arithmetic indexes.

Motivated essentially by these works, we aim at introducing and analogously investigating versions of *arithmetic indexes* of each one of these three classes of numbers: k -Pell, k -Pell-Lucas, and Modified k -Pell numbers. We begin recalling some properties involving these sequences of numbers and then, for each type, we introduce and present some properties and the generating function.

2. ON THE k -PELL NUMBERS OF INDEXES $an + r$

We focus here on the subsequences of k -Pell numbers with indexes in an arithmetic sequence, say $an + r$ for fixed integers a, r with $0 \leq r \leq a - 1$. In this section, we derive some formulae for the sums of these indexes of numbers. First, we state some results involving some properties of this sequence.

Lemma 2.1. *For any positive real number k and any natural number n , we have*

$$(s_1)^n + (s_2)^n = P_{k,n+1} + kP_{k,n-1}.$$

Proof. Applying the respective Binet formula and taking into account that $s_1s_2 = -k$,

$$\begin{aligned} P_{k,n+1} + kP_{k,n-1} &= \frac{1}{s_1 - s_2} \left((s_1)^{n+1} - (s_2)^{n+1} + k(s_1)^{n-1} - k(s_2)^{n-1} \right) \\ &= \frac{1}{s_1 - s_2} \left((s_1)^{n+1} - (s_2)^{n+1} - (s_1s_2)(s_1)^{n-1} + (s_1s_2)(s_2)^{n-1} \right) \\ &= \frac{1}{s_1 - s_2} \left((s_1)^n(s_1 - s_2) + (s_2)^n(s_1 - s_2) \right) \\ &= (s_1)^n + (s_2)^n, \end{aligned}$$

as required. \square

Proposition 2.2. *For any positive real number k , any natural number n , and for fixed integers a, r with $0 \leq r \leq a - 1$, we obtain*

$$P_{k,a(n+2)+r} = (P_{k,a+1} + kP_{k,a-1})P_{k,a(n+1)+r} - (-k)^a P_{k,an+r}.$$

Proof. Taking into account Lemma 2.1, the respective Binet formula and the fact that $s_1s_2 = -k$, we obtain

$$\begin{aligned} &(P_{k,a+1} + kP_{k,a-1})P_{k,a(n+1)+r} \\ &= ((s_1)^a + (s_2)^a) \left(\frac{(s_1)^{a(n+1)+r} - (s_2)^{a(n+1)+r}}{s_1 - s_2} \right) \\ &= \frac{1}{s_1 - s_2} \left((s_1)^{a(n+2)+r} - (s_2)^{a(n+2)+r} + (-k)^a \left((s_1)^{an+r} - (s_2)^{an+r} \right) \right) \\ &= P_{k,a(n+2)+r} + (-k)^a P_{k,an+r}, \end{aligned}$$

as required. \square

Now, we discuss the sum formula for the k -Pell numbers with arithmetic indexes $an + r$, where a and r are fixed integers such that $0 \leq r \leq a - 1$.

Theorem 2.3. *For any positive real number k , any natural number n , and fixed integers a, r with $0 \leq r \leq a - 1$, the sum of k -Pell numbers of kind $an + r$ is*

$$\sum_{i=0}^n P_{k,ai+r} = \frac{(-k)^a P_{k,an+r} - P_{k,a(n+1)+r} + P_{k,r} + (-k)^r P_{k,a-r}}{(-k)^a - (P_{k,a+1} + kP_{k,a-1}) + 1}.$$

Proof. Applying Binet's formula for the k -Pell numbers, the fact that $s_1 s_2 = -k$, and Lemma 2.1, we have

$$\begin{aligned}
\sum_{i=0}^n P_{k,ai+r} &= \sum_{i=0}^n \left(\frac{(s_1)^{ai+r} - (s_2)^{ai+r}}{s_1 - s_2} \right) \\
&= \frac{1}{s_1 - s_2} \left(\sum_{i=0}^n (s_1)^{ai+r} - \sum_{i=0}^n (s_2)^{ai+r} \right) \\
&= \frac{1}{s_1 - s_2} \left(\frac{(s_1)^{an+r+a} - (s_1)^r}{(s_1)^a - 1} - \frac{(s_2)^{an+r+a} - (s_2)^r}{(s_2)^a - 1} \right) \\
&= \frac{(-k)^a P_{k,an+r} - P_{k,a(n+1)+r} + P_{k,r} + (-k)^r P_{k,a-r}}{(-k)^a - (P_{k,a+1} + kP_{k,a-1}) + 1}. \quad \square
\end{aligned}$$

The next two results give us the sum of certain k -Pell numbers with arithmetic indexes.

Corollary 2.4. *If $a = 2p + 1$, then Theorem 2.3 gives*

$$\begin{aligned}
&\sum_{i=0}^n P_{k,(2p+1)i+r} \\
&= \frac{(-k)^{2p+1} P_{k,(2p+1)n+r} - P_{k,(2p+1)(n+1)+r} + P_{k,r} + (-k)^r P_{k,(2p+1)-r}}{(-k)^{2p+1} - (P_{k,2p+2} + kP_{k,2p}) + 1}.
\end{aligned}$$

In particular, if $p = 0$, then $a = 1$ and $r = 0$, and we obtain

$$\begin{aligned}
\sum_{i=0}^n P_{k,i} &= \frac{(-k)P_{k,n} - P_{k,n+1} + P_{k,0} + (-k)^0 P_{k,1}}{(-k) - (P_{k,2} + kP_{k,0}) + 1} \\
&= \frac{(-k)P_{k,n} - P_{k,n+1} + 1}{-k - 2 + 1} = \frac{kP_{k,n} + P_{k,n+1} - 1}{k + 1},
\end{aligned}$$

the formula stated in [10, Proposition 1].

If $p = 1$, then $a = 3$, and if $r = 0$ or $r = 1$ or $r = 2$, we obtain

$$\begin{aligned}
\sum_{i=0}^n P_{k,3i} &= \frac{-k^3 P_{k,3n} - P_{k,3n+3} + 4 + k}{-k^3 - 6k - 7}, \\
\sum_{i=0}^n P_{k,3i+1} &= \frac{-k^3 P_{k,3n+1} - P_{k,3n+4} + 1 - 2k}{-k^3 - 6k - 7}, \\
\sum_{i=0}^n P_{k,3i+2} &= \frac{-k^3 P_{k,3n+2} - P_{k,3n+5} + 2 + k^2}{-k^3 - 6k - 7},
\end{aligned}$$

respectively.

Corollary 2.5. *If $a = 2p$, then Theorem 2.3 gives*

$$\begin{aligned} & \sum_{i=0}^n P_{k,2pi+r} \\ &= \frac{(-k)^{2p} P_{k,2pn+r} - P_{k,2p(n+1)+r} + P_{k,r} + (-k)^r P_{k,2p-r}}{(-k)^{2p} - (P_{k,2p+1} + kP_{k,2p-1}) + 1}. \end{aligned}$$

In particular, if $p = 1$, then $a = 2$, and we obtain

$$\begin{aligned} \sum_{i=0}^n P_{k,2i+r} &= \frac{k^2 P_{k,2n+r} - P_{k,2(n+1)+r} + P_{k,r} + (-k)^r P_{k,2-r}}{k^2 - (P_{k,3} + kP_{k,1}) + 1} \\ &= \frac{k^2 P_{k,2n+r} - P_{k,2(n+1)+r} + P_{k,r} + (-k)^r P_{k,2-r}}{k^2 - (k + 4 + k) + 1} \\ &= \frac{k^2 P_{k,2n+r} - P_{k,2(n+1)+r} + P_{k,r} + (-k)^r P_{k,2-r}}{k^2 - 2k - 3}. \end{aligned}$$

If $r = 0$ or $r = 1$, then the previous equation gives

$$\sum_{i=0}^n P_{k,2i} = \frac{k^2 P_{k,2n} - P_{k,2n+2} + 2}{k^2 - 2k - 3}$$

and

$$\sum_{i=0}^n P_{k,2i+1} = \frac{k^2 P_{k,2n+1} - P_{k,2n+3} + 1 - k}{k^2 - 2k - 3},$$

respectively, formula equivalent to the formula stated in the [24, Proposition 3], but obtained in a different way.

Now, we consider the alternating sequence $\{(-1)^n P_{k,an+r}\}$. It is easy to find the sum formula for this sequence.

Theorem 2.6. *For any positive real number k , any natural number n , and fixed integers a, r with $0 \leq r \leq a - 1$, the sum of the first $n + 1$ terms of the alternating sequence of the k -Pell numbers with arithmetic indexes is given by*

$$\sum_{i=0}^n (-1)^i P_{k,ai+r} = \frac{P_{k,r} + (-1)^n P_{k,a(n+1)+r} - (-k)^r P_{k,a-r} + (-k)^a (-1)^n P_{k,an+r}}{1 + P_{k,a+1} + kP_{k,a-1} + (-k)^a}.$$

Proof. Applying the Binet formula for the k -Pell numbers once more, the fact that $s_1 s_2 = -k$ and $(s_1)^{-1} = -s_2 k^{-1}$, $(s_2)^{-1} = -s_1 k^{-1}$, and Lemma 2.1, we have

$$\begin{aligned} \sum_{i=0}^n (-1)^i P_{k,ai+r} &= \frac{1}{s_1 - s_2} \sum_{i=0}^n (-1)^i (s_1^{ai+r} - s_2^{ai+r}) \\ &= \frac{1}{s_1 - s_2} \left(\frac{(s_1)^r (1 + (-1)^n s_1^{a(n+1)})}{1 + (s_1)^a} - \frac{(s_2)^r (1 + (-1)^n (s_2)^{a(n+1)})}{1 + (s_2)^a} \right) \\ &= \frac{P_{k,r} + (-1)^n P_{k,a(n+1)+r} - (-k)^r P_{k,a-r} + (-k)^a (-1)^n P_{k,an+r}}{1 + P_{k,a+1} + kP_{k,a-1} + (-k)^a}. \quad \square \end{aligned}$$

The next two results give the sum of certain terms of the alternating sequence.

Corollary 2.7. *If $a = 2p + 1$, then Theorem 2.6 gives*

$$\begin{aligned} & \sum_{i=0}^n (-1)^i P_{k,(2p+1)i+r} \\ &= \frac{P_{k,r} + (-1)^n P_{k,(2p+1)(n+1)+r} - (-k)^r P_{k,2p+1-r} + (-k)^{2p+1} (-1)^n P_{k,(2p+1)n+r}}{1 + P_{k,2p+2} + kP_{k,2p} + (-k)^{2p+1}}. \end{aligned}$$

In particular, if $p = 0$, then $a = 1$ and $r = 0$, and we obtain

$$\sum_{i=0}^n (-1)^i P_{k,i} = \frac{(-1)^n (P_{k,n+1} - kP_{k,n}) - 1}{3 - k}.$$

If $p = 1$, then $a = 3$ and if $r = 0$ or $r = 1$ or $r = 2$, we obtain

$$\sum_{i=0}^n (-1)^i P_{k,3i} = \frac{(-1)^n (P_{k,3(n+1)} - k^3 P_{k,3n}) - k - 4}{-k^3 + 6k + 9},$$

$$\text{and } \sum_{i=0}^n (-1)^i P_{k,3i+1} = \frac{(-1)^n (P_{k,3n+4} - k^3 P_{k,3n+1}) + 2k + 1}{-k^3 + 6k + 9},$$

$$\text{and } \sum_{i=0}^n (-1)^i P_{k,3i+2} = \frac{(-1)^n (P_{k,3n+5} - k^3 P_{k,3n+2}) - k^2 + 2}{-k^3 + 6k + 9},$$

respectively.

Corollary 2.8. *If $a = 2p$, then Theorem 2.6 gives*

$$\begin{aligned} & \sum_{i=0}^n (-1)^i P_{k,2pi+r} \\ &= \frac{P_{k,r} + (-1)^n P_{k,2p(n+1)+r} - (-k)^r P_{k,2p-r} + (-k)^{2p} (-1)^n P_{k,2pn+r}}{1 + P_{k,2p+1} + kP_{k,2p-1} + (-k)^{2p}}. \end{aligned}$$

In particular, if $p = 1$, then $a = 2$, and we obtain

$$\begin{aligned} & \sum_{i=0}^n (-1)^i P_{k,2i+r} \\ &= \frac{P_{k,r} + (-1)^n P_{k,2(n+1)+r} - (-k)^r P_{k,2-r} + k^2 (-1)^n P_{k,2n+r}}{k^2 + 2k + 5}. \end{aligned}$$

If $r = 0$ or $r = 1$, then the previous equation gives

$$\sum_{i=0}^n (-1)^i P_{k,2i} = \frac{(-1)^n (P_{k,2(n+1)} + k^2 P_{k,2n}) - 2}{k^2 + 2k + 5},$$

and

$$\sum_{i=0}^n (-1)^i P_{k,2i+1} = \frac{(-1)^n (P_{k,2n+3} + k^2 P_{k,2n+1}) + k + 1}{k^2 + 2k + 5}$$

respectively.

For any positive real number k and fixed integers a, r with $0 \leq r \leq a - 1$, let denote the generating function of the sequence $\{P_{k,an+r}\}$ by $f_{a,r}(k, x)$. Then we get

$$\begin{aligned} f_{a,r}(k, x) &= \sum_{n=0}^{\infty} P_{k,an+r} x^n \\ &= P_{k,r} + P_{k,a+r}x + \sum_{n=2}^{\infty} P_{k,an+r} x^n \\ &= P_{k,r} + P_{k,a+r}x + \sum_{n=2}^{\infty} (2P_{k,a(n-1)+r} + kP_{k,a(n-2)+r}) x^n \\ &= P_{k,r} + P_{k,a+r}x + 2x \sum_{n=2}^{\infty} P_{k,a(n-1)+r} x^{n-1} + kx^2 \sum_{n=2}^{\infty} P_{k,a(n-2)+r} x^{n-2}. \end{aligned}$$

Consider $j = n - 2$ and $l = n - 1$, then

$$\begin{aligned} f_{a,r}(k, x) &= P_{k,r} + P_{k,a+r}x + 2x \left(\sum_{l=0}^{\infty} P_{k,al+r} x^l - P_{k,r} \right) + kx^2 \sum_{j=0}^{\infty} P_{k,aj+r} x^j \\ &= P_{k,r} + P_{k,a+r}x - 2xP_{k,r} + 2x \sum_{n=0}^{\infty} P_{k,an+r} x^n + kx^2 \sum_{n=0}^{\infty} P_{k,an+r} x^n, \end{aligned}$$

which is equivalent to

$$\sum_{n=0}^{\infty} P_{k,an+r} x^n (1 - 2x - kx^2) = P_{k,r} - x(2P_{k,r} - P_{k,a+r})$$

and then the following result is proved.

Proposition 2.9. *For any positive real number k , any natural number n , and fixed integers a, r with $0 \leq r \leq a - 1$, the generating function of the sequence $\{P_{k,an+r}\}$ is*

$$f_{a,r}(k, x) = \frac{P_{k,r} - x(2P_{k,r} - P_{k,a+r})}{1 - 2x - kx^2}.$$

In particular, if $a = 1$, we have $r = 0$, then we get the generating function of k -Pell numbers

$$f_{1,0}(k, x) = \frac{x}{1 - 2x - kx^2}.$$

If $a = 2$ and $r = 0$ or $r = 1$, we obtain

$$f_{2,0}(k, x) = \frac{2x}{1 - 2x - kx^2} \quad \text{and} \quad f_{2,1}(k, x) = \frac{1 + 2x + kx}{1 - 2x - kx^2},$$

respectively.

3. ON THE k -PELL-LUCAS AND MODIFIED k -PELL NUMBERS
OF INDEXES $an + r$

In this section, we introduce the k -Pell-Lucas and Modified k -Pell numbers of indexes $an + r$ for fixed integers a, r with $0 \leq r \leq a - 1$, and present some properties involving these sequences, including the sum formulae and the generating functions. Since all the results, which include these sequences, can be proved by a similar way used in the previous section, we decide to state these results without any proof.

Note that it is easy to see that

$$(8) \quad Q_{k,n} = 2q_{k,n}.$$

This fact is used in the next results for the case of the Modified k -Pell numbers of indexes $an + r$. The correspondent result of Proposition 2.2 for the k -Pell-Lucas and Modified k -Pell numbers of indexes $an + r$ is the following

Proposition 3.1. *For any positive real number k , any natural number n , and for fixed integers a, r with $0 \leq r \leq a - 1$, we obtain*

1. $Q_{k,a(n+2)+r} = Q_{k,a}Q_{k,a(n+1)+r} - (-k)^a Q_{k,an+r}$,
2. $q_{k,a(n+2)+r} = 2q_{k,a}q_{k,a(n+1)+r} - (-k)^a q_{k,an+r}$.

Now, we present the sum formulae for the k -Pell-Lucas, and Modified k -Pell numbers with arithmetic indexes $an + r$, where a and r are fixed integers such that $0 \leq r \leq a - 1$.

Theorem 3.2. *For any positive real number k , any natural number n and for fixed integers a, r with $0 \leq r \leq a - 1$, the sum of k -Pell-Lucas and Modified k -Pell numbers of indexes $an + r$ is*

1. $\sum_{i=0}^n Q_{k,ai+r} = \frac{(-k)^a Q_{k,an+r} - Q_{k,a(n+1)+r} + Q_{k,r} - (-k)^r Q_{k,a-r}}{(-k)^a + Q_{k,a} + 1}$,
2. $\sum_{i=0}^n q_{k,ai+r} = \frac{(-k)^a q_{k,an+r} - q_{k,a(n+1)+r} + q_{k,r} - (-k)^r q_{k,a-r}}{(-k)^a + 2q_{k,a} + 1}$.

The next results give, the sum of certain k -Pell-Lucas and Modified k -Pell numbers respectively, with arithmetic indexes.

Corollary 3.3. *If $a = 2p + 1$, then Theorem 3.2 gives*

1. $\sum_{i=0}^n Q_{k,(2p+1)i+r}$
 $= \frac{(-k)^{2p+1} Q_{k,(2p+1)n+r} - Q_{k,(2p+1)(n+1)+r} + Q_{k,r} - (-k)^r Q_{k,(2p+1)-r}}{(-k)^{2p+1} + Q_{k,2p+1} + 1}$,
2. $\sum_{i=0}^n q_{k,(2p+1)i+r}$
 $= \frac{(-k)^{2p+1} q_{k,(2p+1)n+r} - q_{k,(2p+1)(n+1)+r} + q_{k,r} - (-k)^r q_{k,(2p+1)-r}}{(-k)^{2p+1} + 2q_{k,2p+1} + 1}$.

Corollary 3.4. *If $a = 2p$, then the equation stated in Theorem 3.2 gives*

$$\begin{aligned}
 1. \sum_{i=0}^n Q_{k,2pi+r} &= \frac{(-k)^{2p}Q_{k,2pn+r} - Q_{k,2p(n+1)+r} + Q_{k,r} - (-k)^r Q_{k,2p-r}}{(-k)^{2p} + Q_{k,2p} + 1}, \\
 2. \sum_{i=0}^n q_{k,2pi+r} &= \frac{(-k)^{2p}q_{k,2pn+r} - q_{k,2p(n+1)+r} + q_{k,r} - (-k)^r q_{k,2p-r}}{(-k)^{2p} + 2q_{k,2p} + 1}.
 \end{aligned}$$

Now, for any positive real number k and fixed integers a, r with $0 \leq r \leq a - 1$, we consider the alternating sequences $\{(-1)^n Q_{k,an+r}\}$ and $\{(-1)^n q_{k,an+r}\}$. The sum formulae for these sequences are stated in the next result.

Theorem 3.5. *For any positive real number k , any natural number n , and fixed integers a, r with $0 \leq r \leq a - 1$, the sum of the first $n + 1$ terms of the alternating sequence of the k -Pell-Lucas and Modified k -Pell numbers, respectively, with arithmetic indexes are given by*

$$\begin{aligned}
 1. \sum_{i=0}^n (-1)^i Q_{k,ai+r} &= \frac{Q_{k,r} + (-1)^n Q_{k,a(n+1)+r} + (-k)^r Q_{k,a-r} + (-k)^a (-1)^n Q_{k,an+r}}{1 + Q_{k,a} + (-k)^a}, \\
 2. \sum_{i=0}^n (-1)^i q_{k,ai+r} &= \frac{q_{k,r} + (-1)^n q_{k,a(n+1)+r} + (-k)^r q_{k,a-r} + (-k)^a (-1)^n q_{k,an+r}}{1 + 2q_{k,a} + (-k)^a}.
 \end{aligned}$$

Finally, for any positive real number k and fixed integers a, r with $0 \leq r \leq a - 1$, let denote the generating function of the sequence $\{Q_{k,an+r}\}$ by $g_{a,r}(k, x)$, and for the sequence $\{q_{k,an+r}\}$ by $h_{a,r}(k, x)$. Note that $2h_{a,r}(k, x) = g_{a,r}(k, x)$ and then a similar result of Proposition 2.9 concerning these sequences is

Proposition 3.6. *For any positive real number k , any natural number n , and fixed integers a, r with $0 \leq r \leq a - 1$, the generating function of the sequences $\{Q_{k,an+r}\}$ and $\{q_{k,an+r}\}$, are respectively*

$$\begin{aligned}
 1. g_{a,r}(k, x) &= \frac{Q_{k,r} - x(2Q_{k,r} - Q_{k,a+r})}{1 - 2x - kx^2}, \\
 2. h_{a,r}(k, x) &= \frac{q_{k,r} - x(2q_{k,r} - q_{k,a+r})}{1 - 2x - kx^2}.
 \end{aligned}$$

4. CONCLUSIONS

Sequences of numbers have been studied over several years with emphasis on studies of the well known Fibonacci sequence (and then the Lucas sequence) related to the golden ratio and of the Pell sequence that is related to the silver ratio. In this paper, we also contribute to the study of subsequences of k -Pell, k -Pell-Lucas, and Modified k -Pell numbers with indexes in an arithmetic sequence. We have deduced some formulae for the sums of such numbers and presented the generating functions.

REFERENCES

1. Bolat C. and Köse H., *On the properties of k -Fibonacci numbers*, Int. J. Contemp. Math. Sci. **5**(22) (2010), 1097–1105.
2. Borges A., Catarino P., Aires A. P., Vasco P. and Campos H., *Two-by-Two matrices involving k -Fibonacci and k -Lucas sequences*, Appl. Math. Sci. (Ruse) **8**(34) (2014), 1659–1666.
3. Campos H., Catarino P., Aires A. P., Vasco P. and Borges A., *On some identities of k -Jacobsthal-Lucas numbers*, Int. J. Math. Anal. (Ruse) **8**(10) (2014), 489–494.
4. Catarino P., *On Some identities and generating functions for k -Pell numbers*, Int. J. Math. Anal. (Ruse) **7**(38) (2013), 1877–1884.
5. Catarino P., *A note involving Two-by-Two matrices of the k -Pell and k -Pell-Lucas sequences*, Int. Math. Forum **8**(32) (2013), 1561–1568.
6. Catarino P., *On some identities for k -Fibonacci sequence*, Int. J. Contemp. Math. Sci. **9**(1) (2014), 37–42.
7. Catarino P., *On generating matrices of the k -Pell, k -Pell-Lucas and modified k -Pell sequences*, Pure Math. Sci. **3**(2) (2014), 71–77.
8. Catarino P. and Vasco P., *Modified k -Pell sequence: Some identities and ordinary generating function*, Appl. Math. Sci. (Ruse) **7**(121) (2013), 6031–6037.
9. Catarino P. and Vasco P., *On some identities and generating functions for k -Pell-Lucas sequence*, Appl. Math. Sci. (Ruse) **7**(98) (2013), 4867–4873.
10. Catarino P. and Vasco P., *Some basic properties and a two-by-two matrix involving the k -Pell numbers*, Int. J. Math. Anal. (Ruse) **7**(45) (2013), 2209–2215.
11. Catarino P., Vasco P., Borges A., Campos H. and Aires A. P., *Sums, Products and identities involving k -Fibonacci and k -Lucas sequences*, JP J. Algebra Number Theory Appl. **32**(1) (2014), 63–77.
12. Falcon S., *On the generating matrices of the k -Fibonacci numbers*, Proyecciones **32**(4) (2013), 347–357.
13. Falcon S., *On the k -Lucas numbers of arithmetic indexes*, Applied Mathematics **3**(10) (2012), 1202–1206.
14. Falcon S. and Plaza A., *On k -Fibonacci numbers of arithmetic indexes*, Appl. Math. Comput. **208**(1) (2009), 180–185.
15. Hoggatt, V. E., *Fibonacci and Lucas Numbers. A publication of the Fibonacci Association*, University of Santa Clara, Santa Clara. Houghton Mifflin Company, 1969.
16. Jhala D., Rathore G. P. S. and Sisodiya K., *Some properties of k -Jacobsthal numbers with arithmetic indexes*, Turkish J. Anal. Number Theory **2**(4) (2014), 119–124.
17. Jhala D. and Rathore G. P. S., *Some properties of the k -Jacobsthal Lucas sequence*, International Journal of Modern Sciences and Engineering Technology **1**(3) (2014), 87–92.
18. Jhala D., Sisodiya K. and Rathore G. P. S., *On some identities for k -Jacobsthal numbers*, Int. J. Math. Anal. (Ruse) **7**(12) (2013), 551–556.
19. Kilic E. and Tasci D., *The generalized Binet formula, representation and sums of the generalized order- k Pell numbers*, Taiwanese J. Math. **10**(6) (2006), 1661–1670.
20. Kilic E., Tasci D. and Haukkanen P., *On the generalized Lucas sequences by Hessenberg matrices*, Ars Combin. **95** (2010), 383–395.
21. Koshy T., *Fibonacci and Lucas Numbers with Applications*, John Wiley, New York, 2001.
22. Singh B., Bhadouria P. and Sikhwal O., *Sum properties for the k -Lucas numbers with arithmetic indexes*, J. Math. Comput. Sci. **4**(1) (2014), 105–117.
23. Uygun Ş., *On the k -Jacobsthal Lucas numbers of arithmetic indexes*, Int. J. Contemp. Math. Sci. **11**(4) (2016), 173–183.
24. Vasco P. and Catarino P., *Sums and products involving terms of k -Pell, k -Pell-Lucas and Modified k -Pell sequences*, J. Algebra, Number Theory Appl. **32**(2) (2014), 87–98.
25. Vorobiov N. N., *Números de Fibonacci*, MIR, URSS, 1974.

P. Catarino, Department of Mathematics, University of Trás-os-Montes e Alto Douro, Quinta de Prados, Vila Real, Portugal,
e-mail: pccatarin@utad.pt,
<http://www.utad.pt>

H. Campos, Department of Mathematics, University of Trás-os-Montes e Alto Douro, Quinta de Prados, Vila Real, Portugal,
e-mail: hcampos@utad.pt,
<http://www.utad.pt>

P. Vasco, Department of Mathematics, University of Trás-os-Montes e Alto Douro, Quinta de Prados, Vila Real, Portugal,
e-mail: pvasco@utad.pt,
<http://www.utad.pt>